Which of the following bones connects the upper limb to the axial skeleton?
A. scapula
B. coxal 
C. sternum
D. clavicle
E. humerus

ANSWER: D

Which of the following bones articulates with the occipital condyles of the skull?
A. atlas
B. clavicle
C. axis
D. ulna
E. cuboid

ANSWER: A

Ribs articulate posteriorly with the transverse process of __________.
A. cervical vertebrae
B. the sternum
C. thoracic vertebrae
D. costal cartilages
E. lumbar vertebrae

ANSWER: C

Superiorly, the sacrum articulates with the __________________.
	A.  atlas
B.  thoracic vertebrae
	C.  lumbar vertebrae
D.  mastoid process
	E.  coxal bone

ANSWER: C

To form the pectoral girdle, the clavicle articulates with the ______________.
A. sternum
B. scapula
C. humerus
D. ribs
E. thoracic vertebrae

ANSWER: B








The mandibular condyle of the __________ articulates with the mandibular fossa of the _____________.
A. mandible / temporal bone
B. maxilla / zygomatic bone
C. mandible / occipital
D. temporal / zygomatic
E. maxilla / mandible

ANSWER: A

The proximally the femur articulates with the ____________.
A. glenoid fossa
B. iliac crest
C. obturator foramen
D. acetabulum
E. tibia
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